
Page 1

JOB 17725
KDP / DG Grand Stand Merchandiser (GSM) - Assembly Instructions

A

1Base

B

1Base Support Frame

C

2Side Frame

D

2Side Bottom Shelf

E

1Base Center Shelf

F

1Top Shelf

G

2Round Tube

H

1Top Table

I

2Side Upper Shelf

J

7M6*30 Screw

K

5M6*35 Screw

L

26M6*10

M

5Countersunk Screw

N

1M6 Allen Key

O

12Leveling Feet

P

2Side Panels

1 Place (A) Base upside down and install x12 
(O) Leveling Feet. Then �ip over (A) Base to 
stand on feet and attach the (B) Base 
Support Frame with x2 (J) M6*30 Screws.

2 Attach the left and right (C) Side Frames to 
the (A) Base with x4 (J) M6*30 Screws (x2 per 
side).

3 Secure (B) Base Support Frame to (C) Side 
Frames with x2 (K) M6*35 Screws (x1 per 
side).

5 Thread x4 (L) M6*10 Screws at equal heights 
as required for product �tment. DO NOT 
TIGHTEN them, leaving a 3mm gap for shelf 
placement in the next step.

4 Attach the (D) Side Bottom 
Shelves to the (C) Side Frames 
with x4 (L) M6*10 Screws near the 
outer edges of each shelf (x2 per 
shelf). Then tighten x2 (K) M6*35 
Screws in the middle of the shelf 
passing through (C) Side Frame 
into the (B) Base Support Frame 
(x1 screw per shelf).

NOTE: (D) Side Bottom Shelf “sits” 
on the (A) Base.

For customer service or parts, please call our toll free number 1-866-308-8368 or email help@displaybuilds.com.

J

J

O

O

O

O

O

O

O

O

O

O

O

O

J

K

L

L

L
K L

Scan the QR code or visit the web address directly to view the assembly video: displaybuilds.com/instructions_17325



JOB 17725

Page 2For customer service or parts, please call our toll free number 1-866-308-8368 or email help@displaybuilds.com.

1. DO NOT discard the box or original packaging.
 In the case of damaged goods caused by shipping, photo evidence will be required.

2. Take photos of the box & markings.
 A photo of the markings (text) on the side of the box is required for all cases in which a replacement part 
is needed. This helps to identify the item number and ensures the correct parts are pulled.

3. Take photos of damage (if applicable).
 A photo of the damaged part(s) is always required to �le a claim and expediently process the 
replacement part. Please make sure you keep the box even if it is damaged.

4. Send an email with the images requested.
 Email a description of the claim along with the images required above at displaybuilds.com/contact or 
directly to help@displaybuilds.com. Call our toll-free number 1-866-308-8368 for further assistance.

KDP / DG Grand Stand Merchandiser (GSM) - Assembly Instructions

MISSING PARTS / DAMAGE CLAIM INSTRUCTIONS

7 Attach the (F) Top Shelf to the (C) Side 
Frames with x4 (M) Countersunk Screws (x2 
into each (C) Side Frame).

10 Hook the two (I) Side Upper Shelves into the 
(C) Side Frames at the position required (one 
shelf per side).

8 Attach the square base on the 
(G) Round Tubes to the (H) Top Table with 
x8 (L) M6*10 Screws (x4 screws per (G) 
Round Tube).

6 Sit the (E) Base Center Shelf onto the screws 
placed in the (C) Side Frames, then tighten 
the screws completely. Slide (P) Side Panels 
into the center channels on the (C) Side 
Frames.

9 Place the (G & H) Top Table onto the (F) Top 
Shelf and align the holes. Fasten with x8 (L) 
M6*10 Screws through (G) Round Tube into 
(F) Top Shelf (x4 screws per side).

F M
P

P

G

L

H

G

F

H

L

I

Scan the QR code or visit the web address directly to view the assembly video: displaybuilds.com/instructions_17325


